
Time: 10 Minutes Paper Math 4 Total Marks: 10

1st Month, 1st Week, 2nd Day Syllabus: Unit 1 Exercise # 1  Q No. 4, 5

Q.No.1 Encircle the correct answer from the following choices. (5)


i. Eighty thousand five hundred eighty seven is equal to: 

(a) 85 087 (b) 80 587 (c) 80 578 (d) 80 758

ii. Twenty seven thousand thirty nine is equal to: 
(a) 27 0039 (b) 27 339 (c) 27 039 (d) 27 009

iii. Ten thousand nine hundred fifty seven: 
(a) 10 956 (b) 11 957 (c) 10 957 (d) 10 950

iv. Number 60 950 is written in words as:  60 950 
(a) Six thousand nine hundred fifty 

(b) Six thousand nine hundred five 
(c) Sixty thousand ninety five hundred 
(d) Sixty thousand nine hundred fifty 

v. Number 43 700 can be written as in words:  43 700 
(a) Forty-three thousand seven hundred ten 
(b) Forty-nine thousand seven hundred 
(c) Forty-nine thousand seven hundred seven 

(d) Forty-three thousand seven hundred 
Q.No.1.   Write the following number in words. (2)    
(i) 43 275 ______________________________________________

(ii) 78 065 ______________________________________________

Q.No.2.   Write the following in numerals.          (3) 
(i) Ninety - eight thousand three hundred one. 
(ii) Forty-one thousand sixty-one 
(iii) Sevety-eight thousand five hundred 
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